Ex<xceldD BEEA

SUM (g1 2{E2 -
BED# L =A1+A2+A3+A4+A5 (X =SUM(A1:A5) EELTENTEET,
SUMBABIZFS5E X FH X ERLTHEINET,

Pl = el X i = ik 1 RE
1A 15,000 11,000 4,000 2 50
2R 14,000 10,000 4,000 3 RE
3R 17,000 12,000 5,000 4 50
4R 16,000 11,000 5,000 5 RE
5R 16,000 11,000 5,000 6 40
2008 68 17,000 12,000 5,000 7 30
7H 18,000 12,500 5,500 8 R &
8A 19,000 13,500 5,500 9 20
98 16,000 12,000 4,000 10 RE
108 17,000 12,000 5,000 19
118 16,000 11,000 5,000 190
128 17,000 11,500 5,500 IF PRODUCT
ait =SUM(D7:D18) 139,500 58,500 20,500 | 54,000
1 =AVERAGE(D7:D18) 11,625 4,875 16,500 | 17,000
198,000 MEDIAN MODE
54,000 20,500

FHREEFRDORER YT JHo)EHENET,
=SUM(EE 1, 85 BH2, 86 FH3,- - - ) DHKITHEYET,
SUMBHIE., Y—ILNN—D[ Z JA—FSUMAREY THEETTEET .

e
=SUMIF(D7:D18,17000,H7:H18) EESN-REZHIC—BIT I EILDEEZEE
=SUMPRODUCT ((D7:D18>16500)*(H7:H18>5250),D7:D18)

AVERAGE ($ifE1.241E2---) BA%K

RO FEYEERODET .,

BENICES ., HEE. EERAEEATOSEE . ChbFREShET,
FRENDBDIEE RIS EASh-{EISRYET .

[BE]

=AVERAGEA(K6:K15) X3, SHIEB{E(XOELTHEINETT . ZTATILITER,
=MEDIAN (D3:D8) FEHRDOHEE/NENBLDIBIZHAR, ZOHRILKBHIEZRT,
=MODE(D3:D8) BT —2DH T, ZRULEFICHIRT SE (RHEE) ZiRT,




ROUND ($4{i& #73

S AROHHEEELET .

T N E DIBA0EAY . ERIN-1(10D4T), —2(10DHT), -3(100D#7)= - -
BRINCUNEE 6D, 2085 246L), 30N REEIALD) - - -

FRFT LB DER

bl = AIEXT EERME EEREE
20084F 20,060 5,751 28.67%
20094 19,651 97.96% 5518 28.08%
#ETLS
wLE (M) (18®71=Y) (B HARD)
200928 18 (E£#8) 16,005 516
2A () 14,358 513
201048 18 (#7%)| =ROUND(D52%D49,0) | =ROUND(D54/31,0) |=F54%9 (1A23B~31BETHIHRM)
2A (7€) 14,065 502 10,040( (2B 1H~208FE TM208 )

ROUNDDOWN (34{E #7%%) BA#K

PYUETROMHEIEELET,
MU N DBIEMNOELY  ERIAN-1(1DHT), —2(10DHT), -3(100D H1)*- - -
BRINTUNEERL), 208 246L), 3UNEREE3HL)- - -

A fRocflite | A% HER
TLE 43,888 1 =ROUNDDOWN(D64*E64%0.05,0)
AV =D 185,888 1 9,294

ROUNDUP ($4fi8 #7150 BE#K

Py LIFROMBEEELET,
MU N DBRIEMNOELY  ERIAN-1(1DHT), —2(10DHT), —3(100D H1)*- - -
BRINTUNRERL), 208 246L), 3UNEREE3HL)- - -

RES R | E5]13E®O%) E5|{fi4&
FLE 50,000 12% =ROUNDUP(D74%E74,-3)
A=)V, 210,000|  12% 26,000
[B%E]
SINT(BUE) BEEEHICLET . MR LUTEUVIETET, =INT(1000.25)
HENBEDEDOEIL. BELTBRLGEOERIGIVES,
=EVEN(BUE) JbLELMERIZUIY EIF-EZRY =EVEN(1001)

=ODD(#{E) #HEFZLELEFHIZTY LIF-{EZRT =0DD(1002)



IF (st fE1 fE52) BA%K
EHRAHESN TV HHEEDHE)LE1ERTL.
BN TOENEAROBA)FE2ERTT 5.

B ¢ D E F G
87 K4 EiE ¥I%E

88 A 80 =IF(D88>=60," &#&"," F&#&")
89 B 50 &1

90 C 30 EHE

91 D 70 Btk

[ &4=]

A=B AEBHFELLY

A>B ANBEYHKEL

A<B ADBERYH/NEL

A>=B |AHBRLE

A<=B |AHBLLTF

AOB  |AEBHYELLGLY

[Z=515%BA]

AFHrETMEE F£H B

: : B (i 28

we| HE | &8 BBEMY / WiRgy| BEE

1| 79,800 | 79,800 3 F S/ KE:=3 30.00% | ¥39,900
FEORIZTHBLNT, FfEE 1104 OHEKXIILUTEL-TLVS,
=IF(E104="45 8"
IF(D104="""" IF(D104/12%H104>=0.5,ROUND(C104%0.5,0), ROUND(C104-C104*D104/12%H104,0)))
IF(D104="""" IF(D104*H104>=0.5,ROUND(C104%0.5,0), ROUND(C104-C104*D104*H104,0))))
[FtERX DEREA]
E104H% " R” [TxL.
EDHELEL
MIF(D104="""" IF(D104/12*H104>=0.5.ROUND(C104%0.5,0), ROUND(C104-C104*D104/12%H104,0)))
BnEEEs
@IF(D104="""" IF(D104%H104>=0.5, ROUND(C104%0.5.0) ROUND(C104-C104%D104*H104,0))))

LERETEITTDTOELY,
[BINAAETNTNSDT IFD104="""" TIHLEL

X@D IF(D104¥H104>=0.5,ROUND(C104%0.5,0) [ZHL\T
D104%H104 =09 T, 05 kY KEHYIL D= . ROUND(C104*%0.5,0) &7l
79,800 * 0.5=39,900 (/N = EEL) EEHOTULVS,



Al EE HE ait
A 80 85 165
B 70 65 135
C 90 88 178
D 55 62 117
E 77 64 141
F 64 75 139
TR 72.7 73.2 1458
e R =MAX(C131:C136) =MAX(F131:F136) =MAX(1131:1136)
=IER =MIN(C131:C136) =MIN(F131:F136) =MIN(1131:1136)

[B%E]

=L ARGE (£, I[E 1)
=SMALL (£, IB4L)

REVEINLDIELLDEIEZEKRDH D
INEWEINLDIRIDEIEZRDSD




VLOOKUP (#2%&1{E .ZiH

BREDE [TRUEJLLLZTERR]. TTIEAALTHELY,
BRRBEAROMNLLHEVMERIC. BRERE CRLRESVVENERSNZES,
[F] BRERGEDOEFRIBICHATHIBELHYFET,

BREDE [FALSEJBLLIIMOIZERIEA DL TEHELY,
XFFDRERITELET

HEDOEmINEEELTHEESICEDEZRLEY,

EimFIARIBICHATNSEEIL. BEDE TITRUEIZFEHATEET A
ZOTHWMEBII[FALSEJELTEE—BTRELET,

B2l —BEROFHET, MEFERZIE)IRITREL. BEIMFHREXEIDE LR R,
=IF(ISERROR(VLOOKUP ($K$179,$B$209:$K$249,K177 +1,FALSE)),””,VLOOKUP - - +))

=IF(ISERROR(VLOOKUP ($K$179,— & 3%, K177+1,FALSE)),””,VLOOKUP ($K$179,— & 3% K177+1,FALSE))

ISERROR (TRDX %) BEEK

TACDHENMEEDITS—(E S RLI-LE TRUE 2:RLET,
IS—RTREHLT=OIZIF B%k& . ISERROR B#ix A A hETHELVET,
I5—1E #N/A, #VALUE!, #REF!, #DIV/0', #NUM!, #NAME? X[ #NULL' DL T b,
B2 25—ELABHNIEZBIEL. Z5THRINETHRIZRTT 5,

HLOOKUP (12 Z (& THE BEEQR) B

HED LEHEDTT. RRBEEBREL, EDORON-1=5I0. (FHEDEILOAEERTT 5.
FY, RREN LEDFTIZHY . BT ENTOTIHEEEIFEHATEES,

=P —EXROHET, FEEBEEIEHELEITREL, REBO21TEORET1 15X T,
=HLOOKUP (G177,$C$209:$K$210,2, FALSE)

=HLOOKUP (G177,— & 3 ,2,FALSE)

IREIDEERVHEELE: A-a—N"—[HAI=>TAMI=>IE&RIZ7)V7,

LROER
i) ERNDER T
—*HH:-"""'-’.’# _— -
E=ven Sheet] :__ME J
largn g&m} TR
el 1 |
_HE ee el
(R

= 55 Ty 3 5

EERER U A B
Sheerl L1 T2EELEZ -4"""'-. =

#N/A

BY A B B B €5 1 A
68278 2 AT 10,300 20600 | E{E%E Tt&: &
7838 2 AT 3,000 6,000
7848 2 AT 3,000 6,000 3,000
7H5H 2 AL 16,200 32,400 | 4¥5%1E%(E $C$209:$K$210=>

ANEg




> gERRasHexEnatxa grxa | 881 | z@T | cvx | BT |[JEvsz| so
= HR2EREM 1 2 3 4 5 6 7 8 9
dbiEE 13,100 10,800 8,900 13,800 14,900 13,500 20,800 18,200 3,000
AR 16,200 11,900 8,900 14,200 15,300 13,900 18,300 17,300 3,000
EFE 14,500 12,100 8,900 14,200 15,400 12,900 18,300 17,500 3,000
EHE 14,800 11,300 8,900 14,400 16,400 13,400 18,300 17,400 3,000
MEE 1,490 11,600 9,300 14,200 14,900 13,300 18,800 17,500 3,000
Lz & 1,440 11,200 9,600 14,300 14,100 13,200 17,900 17,200 3,000
RER 14,100 10,900 9,000 14,500 14,700 14,500 17,000 17,500 3,000
IR 14,800 12,700 9,500 15,100 15,600 16,300 19,000 19,300 3,000
wARE 14,700 13,300 10,100 14,900 16,100 15,500 19,000 19,300 3,000
HEE 15,400 13,200 10,100 14,600 17,200 15,400 18,500 19,000 3,000
BER 15,500 12,700 10,000 14,900 16,300 17,700 18,800 19,100 3,000
FER 16,800 13,300 10,300 15,600 16,200 17,300 19,300 19,400 3,000
BRIRED 17,200 13,900 11,100 15,600 17,100 17,500 19,500 19,800 3,000
RIS 17,500 14,500 10,900 15,300 16,300 17,600 19,600 19,500 3,000
IR 16,500 14,400 10,500 15,300 17,000 16,700 19,500 19,500 3,000
RHER 15,400 13,100 10,600 14,700 15,500 16,300 19,200 18,100 3,000
HRE 14,900 12,500 10,700 14,300 14,800 14,000 17,600 18,400 3,000
EILE 15,600 13,500 10,400 14,200 16,200 16,700 18,300 18,700 3,000
RIINE 16,200 13,000 10,300 15,000 16,100 16,000 18,000 18,700 3,000
Iz B2 IR 16,400 13,900 10,900 16,000 15,700 16,300 22,700 21,300 3,000
B8R 16,500 13,600 9,900 15,500 15,300 16,800 21,900 22,300 3,000
EHE 17,200 13,700 11,200 15,800 15,400 17,500 23,100 22,300 3,000
=58 16,100 13,200 10,100 16,600 16,200 17,200 23,100 19,800 3,000
BRHE 15,800 13,500 10,400 16,100 16,300 16,100 21,900 17,400 3,000
HEE 16,000 13,400 10,800 16,000 16,400 17,100 21,900 17,700 3,000
RERRT 15,500 13,100 10,600 16,300 17,300 17,400 22,500 17,500 3,000
KBRAF 16,800 13,500 10,600 16,300 17,700 17,900 22,500 17,200 3,000
EER 15,700 13,100 9,900 15,500 16,900 16,600 23,600 18,400 3,000
Z=RE 16,300 13,800 10,600 16,700 17,400 17,900 22,500 17,500 3,000
LS 16,000 13,700 10,700 16,900 17,300 17,200 22,500 17,500 3,000
BHRE 13,900 11,300 9,600 15,000 14,500 14,800 21,700 17,700 3,000
SRE 14,600 11,700 9,600 14,600 14,500 14,500 21,900 17,400 3,000
i LR 15,300 13,400 10,200 14,800 15,300 15,600 21,700 17,700 3,000
=T 15,300 12,900 10,200 14,600 15,500 15,200 21,900 17,400 3,000
WOg 14,200 12,500 9,200 14,700 15,000 14,900 21,900 17,400 3,000
mEE 14,600 12,400 10,000 13,600 17,000 14,600 23,000 22,000 3,000
EFIIER 15,000 12,700 9,900 13,600 16,700 14,500 23,000 22,000 3,000
EIRE 14,400 11,800 9,900 13,600 16,500 14,500 23,300 22,000 3,000
=EE 15,000 12,600 10,600 13,600 17,000 14,700 23,100 22,000 3,000




